Math 173 - Quiz 7 Name \<e3
April 10, 2014 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (2 points) Find an equation of the plane tangent to the graph of f(z,y) = \/zy? + 6y2
at the point (3, —1,3). :
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2. (2 points) Suppose the temperature at the point (z,y) on a thin sheet of metal is given
by
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where T is measured in degress Fahrenheit. In what direction is the temperature
increasing most rapidly at the point (1,2)?
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3. (3 points) Find the linearization of f(z,y) = ze™¥ at the point (2,0). Then use it to
approximate f(1.98,0.1).
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4. (3 points) Find and classify the critical points of f(z,y) = z® — 3zy + v + 3. S
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